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Solutions

Q1. What is the indication out of the sentence: ‘I
gave him a piece of my mind’?

(a) Appreciation

(b) Learning

(c) Greeting

(d) Scolding

Answer: D

Explanation: The expression, ‘To give someone a
piece of your mind’ means to speak to someone in
an angry way. Therefore, the answer here is
‘scolding’” which means the act of speaking angrily
to someone because you disapprove of their
behaviour. Hence, option (d) is the correct answer.
‘Appreciation’” means recognition and enjoyment
of the good qualities of someone or something.
‘Learning’ means the acquisition of knowledge or
skills through study, experience, or being taught.
‘Greeting’ means a polite word or sign of welcome
or recognition.

Q2. What is the meaning of the expression: 'Blue
blood'?

(a) Polluted industrial waste water

(b) Sap of teak wood

(c) An aristocrat

(d) A costly object

Answer: C

Explanation: ‘Blue blood” is an idiomatic
expression which means ‘A member of a wealthy,
upper-class family or ancestry’ and ‘aristocrat’
means ‘ someone whose family has a high social
rank, especially someone who has a title'.
Therefore, ‘an aristocrat’ is the correct meaning of
the expression ‘blue blood’. Hence, option (c) is
the correct answer.

Q3. ‘He was hoist by his own petard' refers to

(a) He had problems as a result of his own plans to
hurt others

(b) He was high up on the pole

(c) He would usually run away from trouble
(d) He was indifferent to his surroundings
Answer: A

Explanation: ‘He was hoist by his own petard’ is an
idiomatic expression which means ‘Injured,
ruined, or defeated by one's own action, device, or
plot that was intended to harm another; having
fallen victim to one's own trap or schemes’. Option
(a) is the most suitable answer here.

Q4. What is Ballad?

(a) A novel

(b) A historical narration

(c) A popular story or folktale in verse

(d) Musical comedy

Answer: C

Explanation: A ‘ballad’ is a poem or song narrating
a story in short stanzas. Traditional ballads are
typically of unknown authorship, having been
passed on orally from one generation to the next.
Therefore, option (c) is the correct answer. A
‘novel’ is a fictitious prose narrative of book
length, typically representing character and action
with some degree of realism. A ‘Historical
Narrative’ or Narrative history is the practice of
writing history in a story-based form. A ‘musical
comedy’ is a type of play or film that has singing
and dancing as part of the story and that is
humorous and entertaining,

Q5. Plagiarism means

(a) There was an epidemic of plague in the area
(b) It is a sort of political philosophy

(c) It indicates a happy community spirit like in
playing Holi

(d) It is presenting the work of someone else as
one's own

Answer: D

Explanation: The term ‘plagiarism’ means the
practice of taking someone else's work or ideas
and passing them off as one's own, which is given
in option (d). Therefore, option (d) is the correct
answer.
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Q6. Rivalry between the two clans has become
water under the bridge means.

(a) The rivalry continues

(b) It has become a thing of the past

(c) It connects the two clans

(d) It is not forgotten

Answer: B

Explanation: The idiom ‘water under the bridge’
means problems that someone has had in the past
that they do not worry about because they
happened a long time ago and cannot now be
changed. Option (b) is the correct answer here as
it gives the right meaning of the expression.

Q7. Consider the sentence:

The teacher gave me the book.

1 2 345 6

where the words are numbered for convenience
of reference. Consider also the insertion of a single
word 'only' into this sentence to indicate a desired
emphasis. Where shall this word be inserted if the
emphasis is to be

(i) On the recipient

(ii) On the uniqueness of the item given

(iii) On the giver

Respectively (only one at a time)?

(a) (i) Between 3-4; (ii) After 6; (iii) Between 2-3
(b) (i) Between 3-4; (ii) Between 5-6; (iii) Before 1
(c) (i) Between 4-5; (ii) Between 3-4; (iii) After 1
(d) (i) Between 2-3; (ii) Between 4-5; (iii) Between
1-2

Answer: B

Explanation: (i)the recipient is ‘me’, therefore it
will be “only me” i.e. between 3-4.

(ii) the uniqueness of the item given is ‘book’,
therefore it will be “the only book” i.e. between 5-
6.

(iii) the giver is the ‘teacher’, therefore it will be
“only the teacher” i.e. before 1.

Hence, option (b) is the correct answer here.

Q8. What is the meaning of the term 'didactic'?
(a) Intended to be inspirational

(b) Teaching a moral lesson

(c) Received as comical

(d) Sharing an informative experience

Answer: B

Explanation: ‘Didactic’ means ‘intended to teach,
particularly in having moral instruction as an
ulterior motive’. Therefore, option (b) is the
correct answer.

Q9. Consider the statement: The message of
peace and brotherhood permeated the address

by the Chief Guest. Which of the following is
meant by 'permeate’ in this statement?

(a) To advocate

(b) To spread all over

(c) To anchor and stabilize

(d) To leave a permanent impression

Answer: B

Explanation: The term ‘permeate’ means ‘to
penetrate, pass through, and often become
widespread throughout something’. Option (b)
gives the right meaning of ‘permeate’ i.e. to
spread all over. Hence, option (b) is the correct
answer.

Q10. Arrange the following to form a
grammatically correct sentence:

1. Einstein was

2. although a great scientist

3. weak in Arithmetic

4. right from his school days

Select the correct answer using the codes given
below:

(a)4,1,3and 2

(b)2,1,3and 4

(c)4,3,1and 2

(d)2,3,1and 4

Answer: B

Explanation: A sentence should be arranged in a
Subject+ verb+ object form. The subject can be
noun, pronoun, gerund, or clause. Here, the
sentence will start with either 1 or 2 (noun and
clause). Therefore, option (a) and (c) will be
eliminated. Option (b) will make a grammatically
correct sentence after rearrangement i.e. 2134.
Hence, option (b) is the correct answer.
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Q11. Besides resistance to pests, what are the
other prospects for which plants have been
genetically engineered?
1. To enable them to withstand drought
2. To increase the nutritive value of the produce
3. To enable them to grow and do photosynthesis
in spaceships and space stations
4. To increase their shelf life
Select the correct answer using the codes given
below:
(a) 1,2and 3 only
(b) 3and 4 only
(c) 1,2 and 4 only
(d) 1,2,3and 4
Answer: D
Explanation:
Plant genetic engineering, also known as plant
genetic modification or manipulation, is the key
that opens up the doors for introducing crops with
valuable traits to produce plants that require
fewer pesticides, fungicides, or fertilizers, and can
be more resistant to stress conditions. The
applications of Plant Genetic Engineering are:

* Some benefits of genetic engineering in
agriculture are increased crop yields, reduced
costs for food or drug production, reduced
need for pesticides, enhanced nutrient
composition and food quality, resistance to
pests and disease, greater food security, and
medical benefits to the world's growing
population.

* Drought-resistance and increasing shelf life
are some of the other applications of genetic
modification in plants.

* Genetic modification to enable growth of
plants in space is being done on the
International Space Station. Hence option D is
correct.
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Q12. Acid rain is due to

(a) Sulphur dioxide pollution

(b) Carbon monoxide pollution

(c) Pesticide pollution

(d) Dust particles in the atmosphere

Answer: A

Explanation:

Acid rain results when sulphur dioxide (SO2) and

nitrogen oxides (NOyx) are emitted into the

atmosphere and transported by wind and air
currents. Hence option A is correct.

* The SO; and NOx react with water, oxygen and
other chemicals to form sulfuric and nitric
acids. These then mix with water and other
materials before falling to the ground.

Q13. DNA fingerprinting is a technique used for

the detection of

(a) Alzheimer's disease

(b) Disputed parentage

(c) AIDS

(d) Yellow fever

Answer: B

Explanation:

DNA fingerprinting is a laboratory technique used

to determine the probable identity of a person

based on the nucleotide sequences of certain

regions of human DNA that are unique to

individuals. Some of the applications of DNA

Fingerprinting are:

* DNA analysis in forensic tests.

* Can be used to establish paternity tests.
Hence option B is correct.

* Incriminal investigations.

* To determine the frequency of specific genes
in a population which gives rise to diversity.

* Can be used to trace the role of genetic drift in
evolution.

Q14. In raising an object to a given height by
means of an inclined plane, as compared with
raising the object vertically, there is a reduction
in

(a) Force to be applied

(b) Work required

(c) Distance covered

(d) Friction force

Answer: A
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Explanation:

Inclined plane is a simple machine consisting of a

sloping surface, used for raising heavy bodies.

* The force required to move an object up the
incline is less than the weight being raised.

* It reduces the force to be applied in
comparison to lifting the load vertically. Hence
option A is correct.

* It cannot be said that the work done is less as
this depends upon the distance travelled.

Q15. A sinusoidal transverse wave is travelling on

a string. Any point on the string moves in

(a) SHM with the same angular frequency as that
of the wave

(b) SHM with a different frequency than that of
the wave

(c) Uniform circular motion with the same angular
speed as that of the wave

(d) Uniform circular motion with a different
angular speed than that of the wave

Answer: A

Explanation:

A sinusoidal transverse wave travelling on a string

has any point on the string moving with the same

angular frequency as that of the wave.

* Thisis the basic condition empirically observed
which allows equations of phase, phase
difference etc. to be derived. Hence statement
A is correct and statement B is incorrect.

* The particle in such a wave moves in SHM and
not in uniform circular motion. Hence
statements C and D are incorrect.

Q16. Consider the following statements on
Global Positioning System (GPS):

1. GPS allows accurate time-stamping on ATM
transactions.

2. GPS relies on a set of satellites for transferring
signals worldwide.

Which of the above statements is/are correct?
(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Answer: C

Explanation:
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The Global Positioning System, originally Navstar
GPS, is a satellite-based radionavigation system
owned by the United States government and
operated by the United States Space Force.

* Major financial institutions use GPS to obtain
precise time for setting internal clocks used to
create financial transaction timestamps.
Hence statement 1 is correct.

¢ |n the United States’ Navstar GPS, 24 main
satellites in 6 orbits circle Earth every 12
hours. Hence statement 2 is correct.

Q17. Consider the following statements: Cellular
technology evolves in stages called Generation
(G), where

1. A Generation represents the number of

subscribers; higher Generation has more

subscribers.

2. 2G technology has two standards CDMA and

GSM.

3. 2G technology has CDMA standard and 3G has

GSM standard.

Which of the above statements is/are correct?

(a) 1and 3 only

(b) 1only

(c) 3only

(d) 2 only

Answer: D

Explanation:

The generation of cellular technology provides for:

* Increased speed and change in technology
used to achieve that speed. Hence statement
1is incorrect.

* 1G refers to the first generation of wireless
telephone technology. These are the analog
telecommunication standards that were
introduced in 1979.

* The main difference between the two mobile
telephone systems (1G and 2G), is that the
radio signals used by 1G network are analog,
while 2G networks are digital. Its examples
include CDMA and GSM. Hence statement 2 is
correct. Hence option D is correct.

Q18. Consider the following statements for
Nano-technology:
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1. It is the technology of creating materials and

devices atom-by-atom.

2. Physical properties change at the nanometer

scale.

3. Chemical properties change at the nanometer

scale.

Which of the above statements are correct?

(a) 1and 2 only

(b) 1 and 3 only

(c) 2and 3 only

(d) 1,2and 3

Answer: D

Explanation:

Nanotechnology refers to the branch of science

and engineering devoted to designing, producing,

and using structures, devices, and systems by
manipulating atoms and molecules at nanoscale,

i.e. having one or more dimensions of the order of

100 nanometres (100 millionth of a millimetre) or

less. Hence statement 1 is correct.

* Thus, Nanotechnology is not simply working at
ever smaller dimensions; rather, working at
the nanoscale enables scientists to utilize the
unique physical, chemical, mechanical, and
optical properties of materials that naturally
occur at that scale. Hence statements 2 and 3
are correct.

Q19. Consider an industry with the following

features:

* Budgeted monthly fixed cost = Rs.2,20,000

*  Normal monthly output= 12000 per standard
labour hour

* Standard variable overhead rate = Rs.25 per
labour hour

What would be the total factory overhead rate?

(a) 40.33 perlabour hour

(b) 41.67 per labour hour

(c) 42.67 per labour hour

(d) 43.33 perlabour hour

Answer: D

Explanation

* The factory overhead is the total of all costs
incurred to maintain and run the production
facility or factory.
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To compute the overhead rate, divide your

monthly overhead costs by your total

monthly sales.

* Monthly sales are directly given in the
question, and it stands for 12000 units

* Monthly Overhead cost = Fixed Cost +
Variable cost. Whereas fixed cost is directly
given in the question, which is Rs. 2,20,000

* Variable cost = Standard variable overhead
rate * monthly output. Which will be,
12000*25 = 3,00,000.

* Thereby total cost equals to 2,20,000 +
3,00,000 = 5,20,000

* Total factory overhead rate = Total Overhead
cost/total monthly sales.

* Total factory overhead rate = 5,20,000/12000
=43.33.

* Hence the correct answer will be option D.

Q20. Data regarding inventory of a particular
item of usage in the production activities of an
organization are the quantity in stock is 1500
units and the value of this stock is Rs.1,27,500.
(This works out to an average unit cost of 85.)
During the ensuing year X. an additional 300 units
are purchased at a unit cost of Rs.95.
Consumption in production processes during the
year X has been 600 units.

Working by the First-In-First-Out basis, the value
of the residual inventory of the item at the end of
the year X will be

(a) Rs.1,00,000

(b) Rs.1,02,500

(c) Rs.1,05,000

(d) Rs.1,07,500

Answer: C

Explanation

* First In, First Out (FIFO) is an accounting
method in which assets purchased or acquired
first are disposed of first.

* According to the question, the firm already
has the inventory of 1500 units, which is
valued at 1,27,500 and thereby the unit price
of these 1500 units comes out to be 85.

* According to the question, in the year X,
company purchased 300 extra units at a price
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of 95, thereby the total inventory value of
these 300 units will be 28,500

Following table depicts the inventory usage
data

Timeline | Number Unit Total
of Units | Price of | Inventory
(A) the value
product (A*B)
(B)
Already 1500 85 1,27,500
Present
inventory
Year X 300 95 28,500
Total 1,56,000
Value of
inventory

According to the question, company is
consuming 600 units and as per FIFO, the
assets purchased or acquired first are disposed
first. Which means we will utilise the already
present inventory first.

The following table depicts the inventory
usage by the year end (after consumption)

Timeline | Number Unit Total
of Units | Price of | Inventory
(A) the value
product (A*B)
(B)
Already 900 85 76,500
Present (1500-
inventory 600)
Year X 300 95 28,500
Total 1,05,000
Value of
inventory

* Thereby at the end of the year, total inventory
value will be 1,05,000.

Q21. Which of the following are the typical
differences between the private insurance
programmes and the social insurance

programmes?
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Explanation:
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Typical differences between private
insurance programs and social insurance
programs include:

Equity versus Adequacy: Private insurance
programs are generally designed with greater
emphasis on equity between individual
purchasers of coverage, while social
insurance programs generally place a greater
emphasis on the social adequacy of benefits
for all participants. Therefore statement 1 is
correct.

Voluntary versus Mandatory Participation:
Participation in private insurance programs is
often voluntary, individuals usually have a
choice of insurers. Participation in social
insurance programs is generally mandatory.
Therefore statement 2 is correct.

Contractual versus Statutory Rights: The right
to benefits in a private insurance program is
contractual, based on an insurance contract.
However, Social insurance programs are not
generally based on a contract, but rather on a
statute, and the right to benefits is thus
statutory rather than contractual. The
provisions of the program can be changed if
the statute is modified. Therefore statement 3
is correct.

Public health insurance plans are run by a
country’s government. Whereas Private health
insurance plans are run by individual
insurance companies. The cost of your
monthly premium depends heavily on the
types of services your plan will pay for.
Depending on the type of plan you choose, you
may pay a great deal more for private health
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insurance than public. Therefore statement 4
is correct.
Hence the correct answer will be option D.

Q22. The devices that work with computer
systems as soon as they are connected are
described as:

(a) Hot Swapping

(b) Bay Swap

(c) Plug-N-Play

(d) USB Swapping

Answer: C

Explanation:

* PlugandPlay (PnP) is a technology that allows
the operating system to detect and configure
internal and external peripherals as well as
most adapters.

* Plugand Play (PnP) is the part of Windows that
enables a computer system to adapt to
hardware changes with minimal intervention
by the user.

* A user can add and remove devices without
having to do manual configuration, and
without knowledge of computer hardware. For
example, a user can dock a portable computer
and use the docking station keyboard, mouse,
and monitor without making manual
configuration changes

Q23. Which one of the following software

applications would be the most appropriate for

performing numerical and statistical
calculations?

(a) Database

(b) Spreadsheet

(c) Graphics package

(d) Document processor

Answer: B

Explanation:

* A spreadsheet software tool is a platform
designed to analyse, organize, and store
information in a table with rows and columns.

* Today’s spreadsheets are able to perform
basic math functions and have built-in
capabilities to carry out financial accounting
work and statistical tasks.
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* Three of the most common wuses of
spreadsheets include: producing financial
budgets, sorting and storing data, and
creating charts and graphs

Q24. LAN, WAN and MAN are computer networks
covering different areas. Their first alphabets L,
W and M respectively stand for

(a) Local, World and Middle

(b) Long, Wireless and Metropolitan

(c) Local, Wide and Metropolitan

(d) Least, Wireless and Maximum

Answer: C

Explanation:

A computer network is mainly of four types:

* Personal Area Network (PAN) - Personal Area
Network is a network arranged within an
individual person, typically within a range of 10
meters.

* Local Area Network (LAN) - Local Area
Network is a group of computers connected to
each other in a small area such as building,
office

* Metropolitan Area Network (MAN) - A
Metropolitan Area Network is a network that
covers a larger geographic area by
interconnecting a different LAN to form a
larger network

*  Wide Area Network (WAN) - A Wide Area
Network is a network that extends over a large
geographical area such as states or countries.
It is quite bigger network than the LAN

Q25. The method of communication in which
transmission can take place in both directions,
but happens only in one direction at a time, is
called

(a) Duplex

(b) Half Duplex

(c) Full Duplex

(d) Simplex

Answer: B

Explanation:

The Transmission mode is divided into three
categories:
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* Simplex mode - In Simplex mode, the
communication is unidirectional, i.e., the data
flow in one direction. A device can only send
the data but cannot receive it or it can receive
the data but cannot send the data

* Half-duplex mode - In a Half-duplex channel,
direction can be reversed, i.e., the station can
transmit and receive the data as well.
Messages flow in both the directions, but not
at the same time. The entire bandwidth of the
communication channel is utilized in one
direction at a time.

* Full-duplex mode - In Full duplex mode, the
communication is bi-directional, i.e., the data
flow in both the directions. Both the stations
can send and receive the message
simultaneously

Q26. A collection of programs that controls how
the computer system runs and processes
information is called as:

(a) Compiler

(b) Operating System

(c) Linker

(d) Assembler

Answer: B

Explanation

* An operating system (OS) is basically a
collection of software that manages
computer hardware resources and provides
common services for computer programs.

* An operating system is a type of software
without which you cannot operate or run a
computer. It acts as an intermediary or
translation system between computer
hardware and application programs installed
on the computer.

* In other words, you cannot directly use
computer programs with computer hardware
without having a medium to establish a
connection between them.

Q27. SMPS is the acronym for
(a) Store Mode Power Supply

(b) Single Mode Power Supply
(c) Switched Mode Power Supply
(d) Start Mode Power Supply
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Answer: C

Explanation:

* SMPS is short for switched-mode power
supply.

* SMPS is a power supply that uses a switching
regulator to control and stabilize the output
voltage by switching the load current on and
off.

* These power supplies offer a greater power
conversion and reduce the overall power loss.

Q28. USB is the acronym for

(a) Uniform Service Broadcasting

(b) Unique Solution Bus

(c) Universal Serial Bus

(d) Universal Service Broadcasting

Answer: C

Explanation:

* USB is short for Universal Serial Bus.

* The Universal Serial Bus standard has been
extremely successful.

* USB ports and cables are used to connect
hardware such as printers, scanners,
keyboards, mice, flash drives, external hard
drives, joysticks, cameras, monitors, and
more to computers of all kinds, including
desktops, tablets, laptops, netbooks, etc

Q29. The 'Cloud Computing technology’ refers to

(a) A set of algorithms that solves problems using
fuzzy logic

(b) Many computers that are interconnected
through wireless networks and satellites

(c) A distributed computer architecture that
provides  software, infrastructure and
platforms just as required by
applications/users

(d) A futuristic technology that will use clouds to
perform computing

Answer: C

Explanation:

e Cloud computing is the on-demand
availability of computer system resources,
especially data storage (cloud storage) and
computing power, without direct active
management by the user.
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* Llarge clouds often have functions distributed
over multiple locations, each location being a
data centre.

A Cloud is a type of parallel and distributed system
consisting of a collection of interconnected and
virtualized computers that are dynamically
provisioned and presented as one or more
unified computing resources based on service-
level agreements established through negotiation
between the service provider and consumers.

Q30. Which of the following is not an absolute

measure of dispersion?

(a) Range

(b) Mean Deviation

(c) Quartile Deviation

(d) Coefficient of Variation

Answer: D

Explanation:

* We can differentiate between relative
dispersion and absolute dispersion by
checking whether the statistic involves units.

* The coefficient of variation (relative standard
deviation) is a statistical measure of the
dispersion of data points around the mean.

* The metric is commonly used to compare the
data dispersion between distinct series of data

Q31. The mean and standard deviation of a set of
16 non-zero positive numbers in an observation
are 26 and 3-5 respectively. The mean and
standard deviation of another set of 24 non-zero
positive numbers without changing the
circumstances of both sets of observations, are
29 and 3, respectively. The mean and standard
deviation of their combined set of observations
will respectively be

(a) 27.8and 3.21

(b) 26.2 and 3.32

(c) 27.8 and 3.52

(d) 26.2and 3.21

Answer: C

Explanation

As per the question

Dataset 1:

* Total observations = 16

* Mean=26
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¢ Standard Deviation = 3.5

Dataset 2:
¢ Total observations = 24
* Mean=29

e Standard Deviation =3

—  mx + M,
mtn,

combined mean x;, =

* X1=mean of dataset1=26

* X2 =mean of dataset 2 = 29

* N1 =total number of observations in dataset
1=16

* N2=total number of observations in dataset
2=24

* So, combined mean (X12) = (26*16 + 29*24)/
(16+24)

* =(416+696) /40 =27.8

Calculating Combined Standard Deviation by the
below mentioned formula

Combined standard deviation

!‘JII m (0'1: + dl.l‘)+ ) (O’_f‘*‘d_f]

e D1=278-26=1.8
e D;=278-29=-1.2
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* Now, Combined SD =

16(3.5% + 1.82) + 24(32 + 1.22)
16 + 24

jus(lz_zs +3.24) + 24(9 + 1.44)
40

J15{15.49} + 24(10.44)
40

247.84 + 250.56
40

498.4
40

=3.52

Therefore, the correct answer will be option C

Q32. What is the perimeter of the figure shown
below?

A B
C D
10 E F
T
J 12 I

AB=x, CD = x+1, EF = x+2, GH = x+3, BC = DE = FG
=Hl =y

(a) 44 cm

(b) 48 cm

(c)54 cm

(d) 58 cm

Answer: A

Explanation:

From figure it is clear,
AB+CD+EF+GH=1I
Similarly, BC+ DE+ FG + HI = AJ
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So, Perimeter = AB + BC+ CD + DE + EF + FG + GH
+HI+1J+JA
=(AB+CD+EF+GH)+(BC+DE+FG+HI)+1J+
JA

=12+10+12+10

=44cm

Q33. In a medium-sized township, the trend of
annual immigration is an addition of 20% of the
population as it was at the beginning; also 15% of
the population as it was at the beginning is
estimated to relocate elsewhere every year. If
the current population is 80000, what is the likely
population three years hence?

(a) 90000

(b) 91200

(c) 92000

(d) 92610

Answer: C

Explanation:

Let initially population = P = 8000

Annual immigration = in addition of 20% of initial
population = 0.2P

15% relocate to elsewhere = 15% of P = 0.15P

So, three years hence population will be

= (P +3* (0.2P - 0.15P))

=1.15P

=1.15*80000

=92000

Q34. There are two circles of radii r; and rz (r1 <
r2). The area of the bigger circle is 693/2 cm?. The
difference of their 2 circumferences is 22 cm.
What is the sum of the diameters of the two
circles?

(a) 17.5cm

(b) 22 cm

(c) 28.5cm

(d)35cm

Answer: D

Explanation:
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Area of bigger circle = 693/2 cm? = 1t(r2)?
(693/2)*(7/22)= (r2)?

21/2=r;

Diameter (D) = 21cm

The difference in circumference =2mr—2mnri=
22cm

=rn-rn= 7/2

By putting the values,

So, r1=7cm

So, Diameter of a smaller circle(D1) = 14cm

Now,
Sum of diameters = 21 + 14 = 35cm

Q35. Numbers ai, az, as, as, as, ..., az4 are in
arithmetic progression and ai+as+aio+ais+azot+azs
= 225. The value of a;+ax+asz+ais+...a23+az is
(a) 525

(b) 725

(c) 850

(d) 900

Answer: D

Explanation:

Let say a1 = a, a; = a+d, an = a + (n-1)*d

Now,

a1+ as+aip+ ais+az+an=225

a +a+4d + a+9d + a+14d + a+19d + a+23d =225
6a + 69d = 225

3*(2a + 23d) =225

2A +23d =225/3

Now,

Sum of 24 terms = S, = (n/2) *(2a + (n-1)*d)
Soa =(24/2) *(2a + (24-1)*d)

524 = 12*(23 + 23d)

S2a=12%225/3

S24 =900

Q36. A certain sequence of integers is
constructed as follows:
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Consider 0 and 1 as the first two numbers. The
next, i.e. the third number is constructed by their
sumes, i.e. 1. This process of constructing the next
number by the sum of the last two constructed
numbers continues. Taking these numbers 0,1, 1
as the first, second and third numbers in the
sequence, what will be the 7th and 10th
numbers, respectively?

(a) 6and 30

(b) 7 and 33

(c)8and 34

(d) 10 and 39

Answer: C

Explanation:

This type of number series is known as Fibonacci
Series

0,1,1,2,3,5,8,13, 21, 34, ....

So, the 7" term is 8

10%" term is 34

Q37. A firm is purchasing two items, both on
credit on the same day. The credit term offered
for the first item is (2 4)/10, 1/20, net 30; and the
credit term offered for the second item is 3/5,
2/15, net 30. The declared purchase cost of item
1 is Rs.60,000 and that of item 2 Rs.1,40,000. If
both credits can be settled on the 14th day, what
will be the total amount to be paid out?

(a) Rs.1,97,200

(b) Rs.1,97,500

(c) Rs.1,96,600

(d) Rs.1,98,400

Answer: C

Explanation:

Purchase cost of item 1 = 60000

Now, If paid in 10 days so, discount = (5/2)%

If paid within 20 days then 1% discount.

Max limit 30 days

SO, he paid on 14" day

So, discount applicable = 1%

g hello@edutap.co.in




Previous year questions with solutions | 54

So, remaining price of item 1= 60000 — 1%of 60000
= 59400

Purchase cost of item 2 = 140000

Now, If paid in 5 days so, discount = 3%

If paid within 15 days then 2% discount.

Max limit 30 days

SO, he paid on the 14" day

So, discount applicable = 2%

So, remaining price of item 2 = 140000 — 2% of
140000 = 137200

So, total amount to be paid = 59400 + 137200 =
196600

Q38. There are 20 girls and 30 boys in a class, and
their respective average marks are found to be 55
and 58. The average marks of the entire class are
(a) 565

(b) 566

(c) 567

(d) 568

Answer: D

Explanation:

Average marks of girls = 55, total girls = 20. So,
total marks of girls = 55*%20 = 1100

Average marks of boys = 58, total boys = 30. So,
total marks of boys = 58*%30 = 1740

So, the average marks of the entire class = (1100+
1740)/ 20+30

=2840/50

=568

Q39. There are four identically sized and shaped
balls in a box, with only its top open. Each ball is
of a different colour, these being Green, Red,
White and Blue, with only one ball of each colour.
Without looking into the box, one ball is
randomly picked out and its colour is noted; then
it is returned to the box. What are the chances
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that, in two successive draws, one may get the
white ball and the red ball in whichever order?
(a) 1/16

(b) 1/8

(c)1/4

(d)1/2

Answer: B

Explanation:

Now 2 balls are drawn one by one with
replacement- chance of 1 being white and another
being red

= Either white first and red at 2"¢ draw or Red first
and white at 2" draw

= (1/4) *(1/4) + (1/4) *(1/4)

=1/8

Q40. A cylindrical closed tank contains 36m cubic
metres of water, and is filled to half of its
capacity. When the cylindrical tank is placed
upright on its circular base on level ground, the
height of the water in the tank is 4 metres But
when this tank is placed on its side on level
ground, what will be the height of the surface of
the water above the ground?

(a) 9 metres

(b) 6 metres

(c) 3 metres

(d) 1 metre.

Answer: C

Explanation:

Since the tank is half full when placed upright then
naturally it'll also be half full when placed on its
side, so the level of the water (when placed that
way) will be half of the diameter, so, r.

Now, given that Vwater = Tixr?*Hwater
Vwater = T[*rz*Hwater

367 = nir’+4

r=3
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QA41. In a race, the first four winners are to be
awarded points. Each winner's points must be 5
more than that of the next position winner. Total
sum of the points to be awarded is 50. What will
be the points for the third position winner?

(a) 30

(b) 20

(c)10

(d)5

Answer: C

Explanation:

First position winner award = x points

Second position winner awarded = x-5 points
Third position winner awarded = x-10 points
Fourth position winner awarded = x-15 points
Total points award =50

So, x + x-5 +x-10 + x-15 =50

=4x =80

X=20

Now, third position winner awarded = x-10 points
=20-10 = 10 points

Q42. A rectangular garden is to be twice as long
as its width. If 360 m of fencing including gates
will totally enclose this garden, what is the length
of the garden?

(a) 120 m

(b) 130 m

(c)140m

(d) 150 m

Answer: A

Explanation:

Let the width of the rectangular garden be x

So, its length will be 2x

So, its perimeter will be =2 (L + W) = 2 (x +2x) = 6x
That is given to be equal to 360 m.

Thus, 6x =360 - x = 60m.

So, the length of the garden will be 2x =120
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Q43. In a chess tournament, each of the six
players will play with every other player exactly
once. What is the number of matches that will be
played during the tournament?

(a) 10

(b) 15

(c) 20

(d) 25

Answer: B

Explanation:

Every team plays with another team exactly once
="C,=°C,=15

Q44. A man buys apples at a certain price per
dozen and sells them at 8 times that price per
hundred. What percentage does he gain or lose?
(a) 4% profit

(b) 6% profit

(c) 4% loss

(d) 6% loss

Answer: C

Explanation:

Let a man purchase 1dozen (12) apples for Rs.12
CP of 1 dozen apple =Rs. 12

CPof1apple=Rs. 1

Sold them 8 times per 100=12*8/100 i.e. 0.96
SP of 1 apple =0.96

Loss =1-0.96 i.e. 0.04
Loss % = 0.04*100/1 i.e. 4%
Loss % = 4%

Q45. For which time intervals, is the percentage

rise of the population the same for the following
data?
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Period Population
1970 40,000
1980 50,000
1990 60,000
2000 72,000
2010 80,000

(a) 1970-80 and 1980-90

(b) 1980-90 and 1990-2000
(c) 2000-2010 and 1990-2000
(d) 1980-90 and 2000-2010
Answer: B

Explanation:

For years 1970-80, the population increase
(50000-40000/40000) *100 = 25%

For years 1980-90, the population increase
(60000-50000/50000) *100 = 20%

For the years 1990-2000, the population increase
= (72000-60000/60000) *100 = 20%

So, it is the same for 1980-90 and 1990-2010

Q46. Four quantities are such that their
arithmetic mean (A.M.) is the same as the A.M. of
the first three quantities. The fourth quantity is
(a) Sum of the first three quantities

(b) A.M. of the first three quantities

(c) (Sum of the first three quantities)/4

(d) (Sum of the first three quantities)/2

Answer: B

Explanation:

A.M of 4 terms = A.M of the first 3 terms (given)
Let's say 4 terms are a, b, c,and d
AMofdterms=(a+b+c+d)/4

A.M of first 3terms=(a+ b +c)/3

Now,

According to the given condition
(@a+b+c+d)/4=(a+b+c)/3
3*(a+b+c+d)=4*a+b+c)

3d=a+b+c

d=(a+b+c)/3
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So, d = A.M of first three terms

Q47. If the difference between two numbers is
greater than the sum of the numbers, then

(a) Both the numbers are negative

(b) Exactly one of the numbers is negative

(c) At least one of the numbers is negative

(d) None of the above

Answer: C

Explanation:

Let’s say 2 numbersare=a, b

Difference of the number=a—-b

Sum of the numbers=a+b

According to the question:

a—-b>a+b

0>b.

So, b is negative.

Now,

one no. is definitely negative, but we can't
definitely say whether the other no. is negative or
not.

Fore.g.,a=1, b=-2then 1-(-2) > 1+(-2) = 3>-1 which
is true

another e.g., a=-1, b=-2 then -1-(-2) > -1+(-2) = 1>-
1 which is also true

and one no. could be 0 also.

Q48. A palindrome is a number that reads the
same from the left as well as from the right, for
example, 23732. What is the number of
palindromes between 10 and 1010?

(a) 101

(b) 100

(c) 99

(d)9o

Answer: B

Explanation:

We can easily solve this problem using
permutations.
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First take the two-digit palindromes.
They would be 11,22,33,..... and 99. They are 9 in
number.

Now consider 3-digit palindromes from 100 to
200.

They are 101, 111, 121,.....191. These are 10 in
number.

In the same way, from
200-299: 10 palindromes
300-399: 10

400-499: 10

500-599: 10

600-699: 10

700-799: 10

800-899: 10

900-999: 10

The last palindrome would be 1001.

So we got 100 palindromes in total between 10
and 1010.

Q49. In writing all the integers from 1 to 300, how
many times is the digit 1 used?

(a) 160

(b) 140

(c) 120

(d) 110

Answer:

Explanation: A

From 1to9, 1 will come once.

From 10 to 99, 1 can come (1*%°C;) + (°C1*1) = 19
From 100 to 199, “1 can come at hundred’s place
where tens place and unit place can have any
number” or “1 comes at hundred and tens place
and unit place can have any number” or “1 comes
at hundred and unit place and tens place can have
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any number” = (1*10C,*10C;) + (1*1*0C;) +
(1*10C,*1) =120

From 200 to 299, 2 comes at hundreds place and 1
comes at tens place and unit place can have any
digit or 2 comes at hundreds place and 1 at unit
place and tens place can have any number=
(1*1%10C;) + (1*10C;*1) = 20

So, total times 1 digit used =1+ 19 + 120 + 20 =
160

Q50. Consider the sequential integers 27 to 93,
both included in the sequence. The arithmetic
average of these numbers will be

(a) 61.5

(b) 61

(c) 60.5

(d) 60

Answer: D

Explanation:

Sum formula = (n/2)*(2a + (n-1)*d) where n=
numbers, a= first term, d= difference.

Sum of integers from 27 to 93(both included) =
Sum of integers from (1 to 93) — Sum of integers
from 1 to 26.

= {(93/2)*(2*1 + (93-1)*1)} — {(26/2)*(2*1 + (26-
1)*1)}

={47*93} - {13*27}

=4371-351

= 4020

Average of sum for numbers from 27 to 93. (total
numbers = 93- 27 + 1= 67) = 4020/67 = 60.

Q51. Walking at 3/4th of his usual speed, a man
reaches his office 20 minutes late. What is the
time taken by him to reach the office at his usual
speed?

(a) 80 minutes

(b) 70 minutes

(c) 60 minutes
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(d) 50 minutes

Answer: C

Explanation:

Let’s say usual speed =S

Walking at 3/4t of usual speed reaches 20 minutes
latei.e., T+20

Speed = Distance/Time

(3/4)S = D/(T+20)

So, distance is the same in both cases
So, S*T = (3/4)S*(T+20)

4T =3T+ 60

T =60 minutes

Q52. A and B run a 1 km race. A gives B a start of
50 m and still beats him by 15 seconds. If A runs
at 8 km/h, what is the speed of B?

(a) 4.4 km/h

(b) 5.4 km/h

(c) 6.4 km/h

(d) 7.4 km/h

Answer: D

Explanation:

Let a & b denote the running speeds (in m/s) of A
& B respectively in a 1km (= 1000m) race.

It is mentioned that when A gives B a 50m start, A
wins by 15 seconds. So we get the following
equation,

Speed of A = 8km/hr = 8¥1000/60*60 = 20/9 m/s
Time is taken by A to finish the race = 1000/(20/9)
Time = 450 second

Time taken by B to finish the race = 450 + 15 = 465
seconds.

So, speed of B = (1000 -50)/465

=950/465 m/s

So, in km/hr = (950/465) *(18/5)

=7.35km/hr ~ 7.4km/hr
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Q53. In arace of 1 km, A can beat B by 40 m and
B can beat C by 50 m. With how much distance
can A beat Cin a 0-5 km race?

(a)42 m

(b) 43 m

(c)44 m

(d) 45 m

Answer: D

Explanation:

Ratio of distance covered by A and B = 1000: 960 =
25:24

Ratio of distance covered by B and C = 1000: 950=
20:19

After solving,

So, ratioof A: B: C=125:120: 114

For 1 km difference of A and C is 9 units
So, in 5km race, A beat C by 9*5 = 45m

Q54. In an office, 40% of the employees are men
and the rest women. Half of the employees are
tall and half short. If 10% of the employees. men
and short, and are 40 employees are women and
tall, the number of tall men employees is

(a) 60

(b) 50

(c) 40

(d) 30

Answer: A

Explanation:

Total employees = 100x

Men = 40% = 40x

Women = 60x

Tall = 50x

Short = 50x

10% employees men and short = 10x

So, men and tall = 40x — 10x =30x

Women and tall = 40

Tall = women tall + men tall
50x =40 + 30x
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20x =40
X=2
Now, Men and tall = 30x =30*2 = 60

Q55. A provisions shop-owner is found to mix 25
kg of rice worth Rs.32/kg and 20 kg of rice worth
Rs.35/kg and the mixed rice is sold at 15% profit.
What is the selling price of mixed rice.

(a) 35.40/kg

(b) 38.33/kg

(c) 36.50/kg

(d) 37.42/kg

Answer: B

Explanation:

CP =25*32 +20*35=1500

Profit required = 15%

SP = 1.15(1500) =1725

So, SP of each kg = 1725/45 = 38.33/kg

Q56. The original lay of a rectangular plot ABCD
on open ground is 80 m long along AB, and 60 m
wide along BC. Concreted pathways are intended
to be laid on the inside of the plot all around the
sides. The pathways along BC and DA are each 4
m wide. The pathways along AB and DC will
mutually be of equal widths such that the un-
concreted internal plot will measure three-fourth
of the original area of the plot ABCD. What will
be the width of each of these pathways along AB
and DC?

(a)3m

(b)4 m

(c)5m

(d)em

Answer: C

Explanation:

Area of ABCD = 80*60

Width of pathway along breadth = 4cm

Width of path way along length =x cm

New Area = (3/4)*old area

(80— 2*4)*(60-2x) = (3/4)*80*60
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72*(60-2x) = 45*80
540 — 18x = 450

90 = 18x

X=5cm

Q57. At a dinner party, every two guests used a
bowl of rice between them, every three guests
used a bowl of dal among them and every four
guests used a bowl of curd among them. There
are altogether 65 bowls. What is the number of
guests present at the party?

(a) 90

(b) 80

(c) 70

(d) 60

Answer: D

Explanation:

Let the total number of guests be x. Then,

Number of bowls of rice = x/2

Number of bowls of dal = x/3

Number of bowls of meat = x/4
x/2+x/3+x/4=065

6x+4x+3x /12 = 65

=x=60

Therefore, 60 guests were present at the party
Q58. If 5 men or 9 women can finish a piece of
work in 19 days, 3 men and 6 women will done
same work in

(a) 12 days

(b) 13 days

(c) 14 days

(d) 15 days
Answer:D
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Explanation:

M1 * D1/W1 = M2*D2/W?2

Where M1 = working men. D = day, w = work

It is given that 5 men or 9 women can do the job in
19 days.

So, 5 men=9 women

1 man = (9/5)Women
3 men=3(9/5) Women

So, work done = 3 men+6 women = 3*( 9/5) + 6
Women =57/5

Now,

M1 * D1/W1 = M2*D2/W2

LetD2=a

Also W1=W2

9*19 = (57/5)*a

So, a =15 days

Q59. If the radius of a circle is reduced by 50%, its
area will be reduced by

(a) 30%

(b) 50%

(c) 60%

(d) 75%

Answer: D

Explanation:

Let radius of circle be ‘r’.

Area = rur?

Now, radius reduced by 50%. So, new radius = r/2
So, new area =Tt (r/2)?

So, area reduced by = {(rtr? - t (r/2)?)/ mr?} *100
= (3/4) *100
=75%

Q60. In an examination paper where maximum
marks are 500, A got 10% marks less than B, B got

@ www.edutap.co.in

QA +9181462 07241

25% marks more than C, and C got 20% marks less
than D. If A got 360 marks, what marks did D get?
(a) 65%

(b) 70%

(c) 75%

(d) 80%

Answer: D

Explanation:

Max marks = 500

A got 360 marks

So, B got 360/0.9 = 400
C=400/1.25=320

D gets = 320/0.8 = 400

So, D = (400/500)*100 = 80%

Q61. Under the Constitution of India, which of

the following statements are correct?

1. The Constitution is supreme.

2. Thereis aclear division of powers between the
Union and the State Governments.

3. Amendments to the Constitution have to
follow the prescribed procedure.

4. The Union Parliament and the State
Legislatures are sovereign.

5. The Preamble to the Constitution cannot be
invoked to determine the ambit of
Fundamental Rights.

Select the correct answer using the codes given

below:

(a) 1,2,3,4and 5

(b) 2,3 and 4 only

(c) 1,4and 5 only

(d) 1, 2and 3 only

Answer: D

Explanation:

* Both Indian Parliament and State legislatures
are not sovereign and their powers are
restricted by:

- Supremacy of the Constitution of India.

- Judicial Review power of the Supreme
Court and High Courts.

- Federal nature of Indian Constitution.

Hence statement 4 is not correct. Thus the

correct answer is D.

* The Indian Constitution is the fundamental
and Supreme law of the land in our country.
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- It has defined the authority and jurisdiction
of all the three organs of the Union
government and the nature of
interrelationship between them.

* The Constitution divided the powers between
the Centre and the states in terms of the Union
List, State List and Concurrent List in the
Seventh Schedule.

* Preamble is non-justiciable in nature, that is,
its provisions are not enforceable in courts of
law. It cannot be invoked to determine the
ambit of Fundamental Rights as it is neither a
source of power to legislature nor a
prohibition upon the powers of legislature.

Q62. The Right to Free and Compulsory Education

Act, 2009 provides for education to every child. in

the age group

(a) 5—13 years

(b) 8 —16 years

(c) 7-15years

(d) 6—14 years

Answer: D

Explanation:

Article 21 A declares that the State shall provide

free and compulsory education to all children of

the age of six to fourteen years in such a manner

as the State may determine.

* In pursuance of Article 21A, the Parliament
enacted the Right of Children to Free and
Compulsory Education (RTE) Act, 2009.

Q63. If the Prime Minister of India is a member of

the Rajya Sabha

(a) He can make statements only in the Rajya
Sabha

(b) He has to become a member of the Lok Sabha
within six months

(c) He will not be able to speak on the budget in
the Lok Sabha

(d) He will not be able to vote in his Favour

Answer: D

Explanation:

Member of Parliament has the right to vote ONLY

in the house of which he is member.
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Q64. Which one of the following formed the basic
premise for developing the Indian Constitution?
(a) The Government of India Act, 1935

(b) The U.S. Constitution

(c) The British Constitution

(d) The UN Charter

Answer: A

Explanation:

* The structural part of the Constitution is, to a
large extent, derived from the Government of
India Act of 1935 and this act forms the basic
premise for the development of our
Constitution.

Q65. The Malimath Committee (2003) looked at

ways to reform the

(a) Educational System in India

(b) Criminal Justice System in India

(c) Copyright Laws in India

(d) Public-Private Partnership in India

Answer: B

Explanation:

Malimath Committee was headed by Justice V.S.

Malimath, former Chief Justice of the Karnataka

and Kerala High Courts. This Committee began its

work in 2000 when it was constituted by the Home

Ministry.

* The task ofexamining the fundamental
principles of criminal lawto restore
confidence in the criminal justice system.

* This involved reviewing the Code of Criminal
Procedure (CrPC), 1973, the Indian Evidence
Act, 1872, and the Indian Penal Code (IPC),
1860.

Q66. The Parliament can make any law for whole

or any part of India for implementing

international treaties

(a) With the consent of all the States

(b) With the consent of majority of the States

(c) With the consent of the States: concerned

(d) Without the consent of any State

Answer: D

Explanation:

* The Parliament alone can make laws on any
matter in the State List for implementing the
international  treaties, agreements or
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conventions without the consent of any state.
This provision enables the Central government
to fulfil its international obligations and
commitments.

Q67. Statement (l): Speaker of the Lok Sabha
appoints the Chairman of the Public Accounts
Committee.

Statement (ll): Members of Parliament, eminent

persons from industry and trade are the members

of the Public Accounts Committee.

Codes:

(a) Both Statement () and Statement (ll) are
individually true, and Statement (ll) is the
correct explanation of Statement (1)

(b) Both Statement (I) and Statement (ll) are
individually true but Statement (lI) is NOT the
correct explanation of Statement (1)

(c) Statement (l) is true but Statement (1) is false

(d) Statement (1) is false, but Statement (I1) is True

Answer: C

Explanation:

* The chairman of the Public Account committee
is appointed from amongst its members by the
Speaker of Lok Sabha. Hence statement | is
true.

The members of Public Account Committee are

elected by the Parliament every year from

amongst its members according to the principle of
proportional representation by means of the
single transferable vote. So it has Member of

Parliament as its members only. Hence statement

Il is false.

Q68. What is the chronological sequence of the
following events?

1. First Battle of Panipat

Vietnam War

French Revolution

First Gulf War

. World War

Select the correct answer using the codes given
below:

(a) 1,5,3,2and 4

(b) 3,1,5,4and 2

(c) 3,1,4,5and 2

(d) 1,3,5,2and 4

G wN
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Answer: D

Explanation:

* The first Battle of Panipat, on 20 April 1526,
was fought between the invading forces of
Babur and the Lodi dynasty.

* The Vietnam War was a conflict in Vietnam
and USA from 1 November 1955 to the fall of
Saigon on 30 April 1975.

* The French Revolution was a period of radical
political and societal change in France that
began with the Estates General of 1789 and
ended with the formation of the French
Consulate in November 1799.

*  World War | was a major global conflict that
began on 28 July 1914 and ended on 11
November 1918.

e The First Persian Gulf War, also known as
the Gulf War, 1991, was an armed conflict
between Iraq and a coalition of 39 nations
including the United States, Britain, Egypt,
France, and Saudi Arabia

Q69. Which of the following statements are

correct in respect of 'Stridhana"?

1. Various types of movable property gifted to a
woman on various occasions during her
lifetime.

2. Various types of movable property gifted to a
woman at the time of her first marriage.

3. On the woman's death, this wealth could be
inherited by her children and husband.

4. On the woman's death, this wealth could be
inherited by her natural legally adopted
children, with none of the sons-in-law, having
any claim on any part thereof.

Select the correct answer using the codes given

below:

(a) 2and 3 only

(b) 2 and 4 only

(c) 1and 4 only

(d) 1and 3 only

Answer: B

Explanation:

The ancient texts like Manusmritis prescribe the

wealth to be inherited by the sons and the women

could not claim a share of these resources.
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¢ However, women were allowed to retain
Stridhana, which included the gifts they
received on the occasion of their marriage.

* This could be inherited by their children,
without the husband having any claim on it.

e At the same time, the Manusmriti warned
women against hoarding family property, or
even their own valuables, without the
husband’s permission.

Q70. The Khilafat Committee accepted Mahatma
Gandhi's suggestion for a non-violent non-
cooperation protest against the Government in
its meeting at

(a) Bombay

(b) Nagpur

(c) Allahabad

(d) Kanpur

Answer: C

Explanation:

On9 lJune 1920, the Khilafat committee at
Allahabad unanimously accepted the suggestion
of non-cooperation and asked Gandhiji to lead the
movement.

Q71. Which of the following statements reflect
the distinctive features about 6th century BCE
Ganas or Sanghas?

1. The ancient Indian Ganas were oligarchies.

2. The ancient Indian Ganas were non-
monarchical states.

3. Magadha, Kosala, Vatsa and Avanti were the
most powerful States of that era.

4. The procedures of the Buddhist monastic
order (Sangha) patterned on the Sangha
politics.

Select the correct answer using the codes given

below:

(a) 1, 2and 3 only

(b) 1,2,3and 4

(c) 1,2and 4 only

(d) 3and 4 only

Answer: A

Explanation:

The proto states of the Gangetic region were

known as janapadas and comprised chiefdoms,
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republics and small kingdoms. Sixteen

mahajanapadas find mention in the early texts.

* There were also gana - sanghas or oligarchies,
which were centred on clans.

* These kingdoms did not come under the single
decision-making authority of a king but
decisions were taken on a collective basis by
the heads of the different clans together.
There were also smaller kingdoms such as
Kosala and Kasi.

* Among the 16 mahajanapadas, Kasi was
initially powerful. However, Kosala became
dominant later. A power struggle broke out
between Magadha, Kosala, Vatsa and Avanti.
Eventually Magadha emerged as the dominant
mahajanapadas and established the first
Indian empire.

* The sangha originated in the group of disciples
who renounced the worldly life to wander with
the Buddha and listen to his teachings.

Hence Option A is the correct answer.

Q72. What is the chronological sequence of the

following developments?

1. Declinein the export of Indian Cotton

2. Cotton boom in India

3. Civil Warin America

Select the correct answer using the codes given

below:

(a) 1,3and 2

(b) 2,3and 1

(c) 3,2and 1

(d) 2,1and 3

Answer: C

Explanation:

*  When the American Civil war broke out in
1861, a wave of panic spread in Britain. As the
cotton prices soared export merchants in
Bombay were keen to meet the British
demand.

* They gave advances to the Urban sahukars
who in turn extended credit to rural money
lenders which promised to secure the produce.

* While the American crisis continued, cotton
production in the Bombay Deccan expanded.

* By 1862 over 90% of the cotton imports into
Britain were coming from India.
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* As the civil war ended, cotton production in
America revived and Indian cotton exports
declined.

Q73. The Problem of Rupee' was whose D. Sc
Thesis

(a) Sri Aurobindo

(b) Dr. Rajendra Prasad

(c) Pt.Jawaharlal Nehru

(d) Dr. Bhimrao Ambedkar

Answer: D

Explanation:

'The Problem of the Rupee' was the title of the
thesis that Dr. B. R. Ambedkar submitted to the
London School of Economics for which he was
awarded his doctorate in 1923.

Q74. Which of the following industries were first

established during the British Rule in India?

(a) Cotton Textile Industry and Jute Industry

(b) Jute Industry and Iron & Steel Industry

(c) Cotton Textile Industry and Chemical Industry

(d) Jute Industry and Chemical Industry

Answer: A

Explanation:

Cotton and Jute are the sets of industries were

among first modern industries in India.

* The -emergence of the cotton textile
industry started with the introduction of the
first machinery in Kolkata in the year 1818 at
fort Gloster. Followed by this, another major
event is the installation of machinery in
Mumbai in the year 1854 by Nanabhai Davar.

* Thefirst jute mill was established at Rishra, on
the River Hooghly near Calcutta in 1855 when
Mr.George Acland brought jute spinning
machinery from Dundee.

Q75. Which of the following were the main

aspects of the Gandhi-Irwin Pact of 1931?

1. Suspension of the Civil Disobedience
Movement

2. To take part in the then forthcoming Shimla
Conference

3. Pay taxes for the period of the Civil
Disobedience Movement

4. Release of Political Prisoners
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Select the correct answer using the codes given

below:

(a) 1and 3 only

(b) 2 and 3 only

(c) 1and 4 only

(d) 2and 4 only

Answer: C

Explanation:

Gandhi-Irwin Pact is the name given to a political

agreement concluded by Mahatma Gandhi and

Lord Irwin, the then Viceroy of India, on 5" March

1931. As per this pact:

* The Indian National Congress (INC) agreed to
take part in the Round Table Conference.

* The INC would stop the civil disobedience
movement.

e Withdrawal of all ordinances that curbed the
activities of the Congress.

* Government agreed to release all political
prisoners to save those involved in violence.

Hence Cis the correct answer.

Q76. A branch of scholarship that flourished in
Europe, particularly from the fifteenth to the
eighteenth centuries, and was devoted to the
appreciation, chronicling and classification of
historic and non-organic relics, monuments and
old texts refers to

(a) Archaeology

(b) History

(c) Architecture

(d) Antiquarianism

Answer: A

Archaeology or archeology is the scientific study of
human activity through the recovery and analysis
of material culture. The archaeological record
consists of artifacts, architecture, biofacts or
ecofacts, sites, and cultural landscapes.

Q77. Which of the following is not true of the

Western Ghats?

(a) UNESCO declared 39 places in the Western
Ghats as 'World Heritage Sites' in 2012

(b) It is one of the eight hottest hotspots of
biological diversity in the world

(c) Ithastworeserves and thirteen national parks
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(d) ONGC surveys have recently found huge oil
reserves.

Answer: D

* ONGC has not found any reserves of oil or
natural gas in the Western ghats.

* Rest all the statements are true.

Q78. Ayodhya is located at the bank of which
river?

(a) Falgu

(b) Ganga

(c) Sarayu

(d) Yamuna

75T 80°T 85°T 90T

Answer: C
Ayodhya is located on the banks of Sarayu river.

Q79. The term 'Carbon footprint' means

(a) Aregion which is rich in coal mines

(b) The amount of reduction in the emission of
CO; by a country

(c) The use of Carbon in manufacturing industries

(d) The amount of greenhouse gases produced by
our day-to-day activities.

Answer: D

A carbon footprint is the total amount of

greenhouse gases (including carbon dioxide and

methane) that are generated by our actions.

Q80. Green Revolution in India was expeditiously
feasible in zones of

(a) High rainfall

(b) Moderate rainfall

(c) Assured irrigation

(d) Higher population density

Answer: C
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Greenrevolutionin India was feasible in the zones
where irrigation coverage was good. Thus,
regions of Punjab, Haryana & Western Uttar
Pradesh were benefited in the Green Revolution.

Q81. What is the correct sequence of tributaries
of the river Ganga from West to East?

(a) Yamuna, Ghaghara, Son, Gandak and Kosi

(b) Ghaghara, Yamuna, Gandak, Kosi and Son

(c) Yamuna, Ghaghara, Gandak, Son, and Kosi

(d) Ghaghara, Yamuna, Kosi, Gandak and Son
Answer: A

Q82. In the study of pollution, SPM refers to

(a) Sulphur Phosphorus Matter

(b) Sulphur Particulate Matter

(c) Solid Particulate Matter

(d) Suspended Particulate Matter

Answer: D

Particulates — also known as atmospheric aerosol
particles, atmospheric particulate  matter,
particulate matter (PM) or suspended particulate
matter (SPM) — are microscopic particles of solid
or liquid matter suspended in the air.

Q83. What is Know India Programme (KIP)?

(a) A programme for children aged 12-
15years from rural areas to make them
aware of different aspects of India

(b) A programme that facilitates visits of
rural teachers to different parts of the
country

(c) An out-reach programme of the Ministry
of External Affairs to build closer ties with
India's neighbourhood

(d) A programme for diaspora youth to
promote awareness among them about
different aspects of India.

Answer: D
Explanation
* About Know India Programme
o It is organized by the Ministry of
External Affairs
o It is an important initiative of the
Government of India with an aim to
engage and make the students and
young professionals of Indian
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Diaspora, in the age group of 18 to
30years.

It engages a sense of connect with
their motherland, to be motivated
and inspired by transformational
changes taking place in India and to
give them an exposure to various
aspects of contemporary India’s
forms of art, heritage and culture.

Q84. Which of the following are incorporated in
the Government approved National Telecom

Policy, 2012?
1. Broadband for all

with a minimum

download speed of two megabits per
second

2. India's rural tele-density to be improved
from 39% to 70% in the next five years

3. Roaming charges shall be scrapped

Select the correct answer using the codes

given below:

(a) 1and2only

(b) 1and3only

(c) 2and3only

(d) 1,2and 3

Answer: D

Explanation

* About National Telecom Policy 2012

@)
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Strive to create One Nation - One
License across services and service

areas.

Achieve One Nation - Full Mobile
Number Portability and work
towards One Nation - Free
Roaming.

Increase rural teledensity from the
current level of around 39 to 70 by
the year 2017 and 100 by the year
2020.

To recognise telecom, including
broadband connectivity as a basic
necessity like education and health
and work towards ‘Right to
Broadband’.

Provide affordable and reliable
broadband-on-demand by the year

2015 and to achieve 175 million
broadband connections by the year
2017 and 600 million by the year
2020 at minimum 2 Mbps
download speed and making
available higher speeds of at least
100 Mbps on demand.

o Provide high speed and high quality
broadband access to all village
panchayats through a combination
of technologies by the year 2014
and progressively to all villages and
habitations by 2020.

Q.85 Which of the following is one of the
Millennium Development Goals fixed by the
UNO?

(a)
(b)
(c)
(d)

Having extreme poverty and halting the
spread of HIV/AIDS

Develop a new variety of foodgrains
which can ensure bumper crops

To ensure that population does not
increase in least developed countries.
Develop procedures towards adequate
and timely forewarning on hurricanes and
tsunamis

Answer: D
Explanation
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The Millennium Development Goals were
targeted from 2000-2015 realizing these
values around the world by 2015 and
served as the focus for UN work
throughout the period:

o Eradicate extreme poverty and

hunger

o Achieve universal primary
education

o Promote gender equality and

empower women

o Reduce child mortality

o Improve maternal health

o Combat HIV/AIDS, malaria and
other diseases

o Ensure
sustainability

environmental
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o Global
development
* The SDGs were set up in 2015 by the
United Nations General Assembly and are
intended to be achieved by 2030
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Q.86 Amongst the following, who is the latest
recipient of the "Bharat Ratna' award?
(a) Sachin Tendulkar
(b) Atal Bihari Vajpayee
(c) Amartya Sen
(d) A.P.J. Abdul Kalam
Answer: B
Explanation
* Atal Bihari Vajpayee was conferred the
Bharat Ratana Award in 2015
* After him following persons have received
the Bharat Ratana in 2019: Pranab
Mukherjee, Nanaji Deshmukh and Bhupen
Hazarika

partnership for

Q.87 The Malimath Committee (2003) looked at
ways to reform the
(a) Educational System in India
(b) Criminal Justice System in India
(c) Copyright Laws in India
(d) Public-Private Partnership in India.
Answer: A
Explanation
* About Malimath Committee
* |t’s objective was to suggest the need to re-
write the Code of Criminal Procedure
(CrPC), the Indian Penal Code (IPC) or the
Indian Evidence Act to fulfil the aspiration
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of citizens and to accommodate these with
changing nature of the crime.

* It suggested the setting up of a State
Security Commission to insulate the police
from political pressure.

* It was/ given the mandate to review only
the Code of Criminal Procedure (CrPC),
1973.

Q.88 The Rangarajan Committee on
disinvestment of shares in Public Sector
Enterprises suggested that

1. The percentage of equity to be divested
56 should be no more than 49% for

industries explicitly reserved for the
public sector and it should be either 74%
or 100% for others.

2. Year-wise targets
should be maintained.

Which of the above statements is/are

correct?

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither1 nor?2

Answer: A
Explanation

* The Rangarajan Committee of 1993 was
constituted by the government for making
recommendations in context with the
disinvestment. The committee said that

* Disinvesting up to 49% of PSEs equity for
industries explicitly reserved for the public
sector and over 74% in other industries.

* The units to be disinvested should be
identified and disinvestment could be
made upto any level, except in defence and
atomic energy where the government
should retain the majority holding in
equity.

* Disinvestment should be a transparent
process duly protecting the right of the
workers.

* An autonomous body for the smooth
functioning and monitoring of the
disinvestment programme should be
established. This recommendation led to

of disinvestment
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the Disinvestment Commission in 1996 as
an advisory body having a full time
chairman and four part-time members.
The Commission was required to advise
the government on the extent, made,
timing and princing of disinvestment.

* |t suggested four modes of disinvestment
viz. Trade sale, Strategic Sale, Offer of
shares and Closure or sale of Assets.

* But the then Government did not take any
decision on the Committee's
recommendations..

Q.89 What was the position held by Dr. S.
Radhakrishnan, before he became the Vice-
President of India?
(a) Ambassador to the U.S.A.
(b) Chairman, U.G.C.
(c) Chairman, Planning Commission
(d) Ambassador to the Soviet Union
Answer: D
Explanation
* DrS. Radhakrishnana was serving as Indian
ambassador from 1949 to 1952 to the Soviet
Union.
* He was elected as Vice President in 1952.

Q.90 Which of the following trends in FDI inflows
are correct?

1. In 2003 04, the FDI Equity inflow
percentage growth was negative.

2. From 2004-05 to 2007-08, the FDI inflows
were very high and positive.

3. In 2008-09, the FDI inflows were positive,
but had decreased relative to the
previous year.

Select the correct answer using the codes

given below:

(a) 1and3only

(b) 1,2and 3

(c) 2and3only

(d) 1and 2 only

Answer: As the question is based on latest trends,
students are advised to prepare the latest trends
related to important parameters (Like GPD,
Inflation, FDI etc.) for the examination.
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Q.91 The Large Hadron Collider (LHC) used in the
CERN project is a particle accelerator located on
the border between
(a) Spainand France
(b) France and Germany
(c) Spainand Switzerland
(d) France and Switzerland
Answer: D
Explanation
* The Large Hadron Collider (LHC) is the
most powerful particle accelerator ever
built.
e It is located on the Franco-Swiss border
near Geneva, Switzerland.

Q92. Special Economic Zones (SEZ) are developed

to

(a) Generate additional economic activity
throughout the country

(b) Beautify suburban areas

(c) Upgrade the facilities in the countryside

(d) Promote investment from domestic and
foreign sources

Answer: D

Explanation:

* Special Economic Zones (SEZ) are developed to
create additional economic activity, to boost
the export of goods and services, to generate
employment, toboost domestic and
foreign investments, to develop infrastructure
facilities. Hence D is the right answer.

Q93. Unbalanced' Growth is hypothesized when

(a) Expansion can take place simultaneously on
several growth routes

(b) Supply of labour is fixed

(c) Supply of capital is unlimited

(d) Active sectors need to, and do energize
sluggish sectors

Answer: D

Explanation:

* Balanced growth aims at harmony,
consistency and equilibrium  whereas
unbalanced growth suggests the creation of
disharmony, inconsistency and
disequilibrium. The implementation of
balanced growth requires huge amount of
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capital. On the other hand, unbalanced
growth requires less amount of capital,
making investment in only leading sectors.
Balanced growth is long term strategy
because the development of all the sectors of
economy is possible only in long run period.
But the unbalanced growth is a short-term
strategy as the development of few leading
sectors is possible in short span of period.
Hence, D is the right answer.

Q94. Transportation plays a great role in any
economy. Which of the following modes of
transportation has the highest elasticity?

(a) Air

(b) Rail

(c) Road

(d) Water

Answer: C

Explanation:

* The extent of responsiveness of demand with
change in the price is not always the same.
The demand for a product can be elastic or
inelastic, depending on the rate of change in
the demand with respect to change in price of
a product. Elastic demand is the one when the
response of demand is greater with a small
proportionate change in the price. On the
other hand, inelastic demand is the one when
there is relatively a less change in the demand
with a greater change in the price.

* Therefore, in terms of transportation, road
transportation has the highest elasticity as it
whenever there is change in fare of road
transportation, its demand will change
drastically and people may adopt to other
modes in case of increase in fare. On the other
hand, if fare of road transportation decreases
then people will more prefer it. Hence, C is
correct.

Q95. How does an expansionary monetary policy

affect the rate of interest and level of income?

(a) Raises the level of income but lowers the rate
of interest

(b) Raises the rate of interest but lowers the level
of income
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(c) Raises both, the rate of interest and the level
of income

(d) Lowers both, the rate of interest and the level
of income

Answer: A

Explanation:

* Expansionary monetary policy works
by expanding the money supply faster than
usual or lowering short-term interest rates. It
is enacted by central banks and comes about
through open market operations, reserve
requirements, and setting interest rates.

* Expansionary monetary policy aims to
increase aggregate demand and economic
growth in the economy. It involves cutting
interest rates or increasing the money supply
to boost economic activity. It could also be
termed a ‘loosening of monetary policy’. It is
the opposite of ‘tight’ monetary policy.
Hence, A is the right answer.

Q96. When the Government ownership in Public

Sector Undertakings is diluted, it is called

(a) Privatization

(b) Public-Private Partnership

(c) Disinvestment

(d) Deflation

Answer: C

Explanation:

* Privatisation refers to the sale of the
government’s majority stake, or the whole
enterprise, to private investors. In case of
privatisation, the government doesn’t hold
the resulting control and ownership.

* A public-private partnership (PPP) is a long-
term contract between a private party and a
government agency for the provision of a
public asset or service, in which the private
party assumes major risk and management
responsibilities.

* Disinvestment means the government or an
organisation is liquidating or selling its stake in
acompany. But it will be less than 50% and the
government or the organisation will still be in
the saddle, calling the shots.
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* Deflation is when consumer and asset prices
decrease over time, and purchasing power
increases.

* Hence, Cis the right answer.

Q97. Consider the following items:

1. Consumer goods and services

2. Gross private domestic investment

3. Goods and services produced by the
Government

4. Netincome from abroad

Which of the above items are included in GNP?
(a) 1, 2and 3 only

(b) 1, 2and 4 only

(c) 3and 4 only

(d) 1,2,3and 4

Answer: D

Explanation:

* GNP is the value of all final goods and services
produced by the residents of a country in a
financial year

*  While Calculating GNP, income of foreigners
in a country is excluded but income of people
who are living outside of that country is
included. The value of GNP is calculated on
the basis of GDP.

* GNP =GDP + X— M. Where, X =income of the
people of a country who are living outside of
the Country. M = income of the foreigners in
a country.

* Hence, D is the right answer.

Q98. Which of the following statement best

describes the content of the theory of

distribution?

a) The distribution of income among different
individuals in the economy

b) The distribution of income between the
Centre and the State Governments

¢) The principle of just distribution of wealth and
income

d) The distribution of income between the
owners of factor resources

Answer: D

Explanation:

* Distribution refers to the way total output,
income, or wealth is distributed among the
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factors of production such as labour, land, and
capital. Hence, D is the right answer.

Q99. The demand for a factor of production is
said to be derived demand because
1. It is a function of the profitability of an

enterprise

2. It depends on the supply of complementary
factors

3. It stems from the demand for the final
product

4. It arises out of means being scarce in relation
to wants

Which of the above reasons is/are correct?

a) lonly

b) 3only

c) 2and4only

d 1,2,3and4

Answer: B

Explanation:

* In essence, the demand for, say, a factor of
production by a firm is dependent on the
demand by consumers for the product
produced by the firm. The term was first
introduced by Alfred Marshall in his Principles
of Economics in 1890. Demand for all factors
of production is considered as derived
demand. Hence, B is the right answer.

Q100. Whenever countries set up a Free Trade
Area, they abolish all restrictions on trade among
themselves and

a) They establish a common external tariff on
imports from outside countries

b) They abolish all restrictions on imports from
outside countries

c) They abolish all restrictions on imports from
other Free Trade Areas

d) Each country maintains its own set of tariffs
and quotas on imports from outside countries

Answer: A

Explanation:

*  Whenever countries set up a Free Trade Area,
they abolish all restrictions on trade among
themselves and they establish a common
external tariff on imports from outside
countries. Hence, A is the right answer.
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Q101. The term 'Dear Money' refers to

a) Low rate of interest on housing loans

b) Value of money at the recession stage

c) High rate of interest

d) Savings gained due to decrease in rate of
interest on housing loans

Answer: C

Explanation:

* Dear money refers to hard-to-borrow funds
created by a high-interest rate environment,
making money more expensive to obtain.
When central banks enact tight monetary
policy, interest rates go up, encouraging
saving and discouraging lending or
investment. Hence C is the right answer.

Panchayats and Municipalities in the
State on the  basis of the
recommendations made by the Finance
Commission of the State. Hence,
statement 1 and 3 are correct.

» Evaluation of Centrally sponsored
schemes are not a responsibility of
Finance Commission. Hence, statement 2
is incorrect.

»> Developing five years plan was the
responsibility of erstwhile Planning
Commission. Hence, statement 4 is
incorrect.

» Therefore, B is the right answer.

Q103. Which of the following statements are
correct regarding the International Monetary

. ) Fund (IMF)?
Q102. Which of the following are the roles of the o
. . . 1. Indiais a founder member of the IMF
Finance Commission in India? . . .
o 2. India's quotainthe IMFis more than 4 percent
1. The distribution of money collected through . . ) .
3. Finance Minister is represented ex-officio on
taxes
2. Evaluation of Centrall d sch the IMF
- tvaluation of Lentrally sponsored schemes 4. IMF conducts regular review of India's

3. Evolve principles based on which funds are
allotted among States

4. To develop Five Year Plans

Select the correct answer using the codes given

below:

a) land4only

b) 1and3only

a)
b)
c)

economic status under Article IV

Select the correct answer using the codes given
below:

1,2 and 3 only
1,3 and 4 only
2 and 4 only

d 1,2,3and4
¢) 2and4only Ar)lswer' B
d) 2and 3 only Explanation:
Answer: B * Indiais a founder member of the IMF. Hence,
Explanation:

* The Finance Commission helps in maintaining
fiscal federalismin India by performing
following functions:

» The distribution between the Union and
the States of the net proceeds of taxes
which are to be divided between them
and the allocation between the States of
the respective shares of such proceeds.

» Determination of principles and
quantum of grants-in-aid to States which
are in need of such assistance.

» Measures needed to augment the
Consolidated Fund of a State to
supplement the resources of the
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statement 1 is correct.

India's quota in the IMF in 2022 is around 2.75
percent. Hence, statement 2 is incorrect.
Finance Minister is represented ex-officio on
the IMF. Hence, statement 3 is correct.
Country surveillance is an ongoing process
that culminates in regular (usually annual)
comprehensive consultations with individual
member countries, with discussions in
between as needed. The consultations are
known as "Article IV consultations" because
they are required by Article IV of the IMF's
Articles of Agreement. During an Article IV
consultation, an IMF team of economists visits
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a country to assess economic and financial
developments and discuss the country's
economic and financial policies with
government and central bank officials. IMF
staff missions also often meet with
parliamentarians and representatives of
business, labor unions, and civil society.
Hence, statement 4 is correct.
* Therefore, B is the right answer.

Q104. Statement (l): The effects of an income tax
on consumption, saving and investment are micro
effects

Statement (I1): Income tax is an example of direct

tax.

Codes:

(a) Both Statement (l) and Statement (IlI) are
individually true and Statement (ll) is the
correct explanation of Statement (l)

(b) Both Statement (I) and Statement (Il) are
individually true but Statement (lI) is not the
correct explanation of Statement (1)

(c) Statement (l) is true but Statement (ll) is false

(d) Statement (1) is false but Statement (ll) is true

Answer: B

Explanation:

* The effects of an income tax on consumption,
saving and investment are micro effects.
Hence, statement | is correct.

* |n the case of direct tax, the burden can't be
shifted by the taxpayer to someone else.
These are largely taxes on income or
wealth. Income tax, corporation tax, property
tax, inheritance tax and gift tax are examples
of direct tax. Hence, statement Il is correct.

* Both statement | and Il are correct but
Statement (ll) is not the correct explanation of
Statement (l)

* Therefore, B is the right answer.

Q105. Statement (1): Trade between two
countries takes place on account of differences in
costs.

Statement (ll): Different countries have different
factor endowments

Codes:
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(a) Both Statement () and Statement (Il) are
individually true and Statement (ll) is the
correct explanation of Statement (l)

(b) Both Statement (I) and Statement (ll) are
individually true but Statement (lII) is not the
correct explanation of Statement (I)

(c) Statement (1) is true but Statement (ll) is false

(d) Statement (l) is false but Statement (ll) is true

Answer: A

Explanation:

* Trade between two countries takes place on
account of differences in costs. The reason is
that different countries have different factor
endowments. Hence, both the statements
are correct and also Statement (Il) is the
correct explanation of Statement (l).

* Therefore, A is the right answer.

Q106. Statement (1): Foreign investment may

affect a country's export performance.

Statement (ll): Inflow of foreign exchange may

cause appreciation of local currency leading to a

rise in the price of export commodities.

Codes:

(a) Both Statement (I) and Statement (Il) are
individually true and Statement (ll) is the
correct explanation of Statement (l)

(b) Both Statement (I) and Statement (Il) are
individually true but Statement (lII) is not the
correct explanation of Statement (1)

(c) Statement (l) is true but Statement (ll) is false

(d) Statement (I) is false but Statement (ll) is true

Answer: A

Explanation:

* Foreign investment may affect a country's
export performance as inflow of foreign
exchange may cause appreciation of local
currency leading to a rise in the price of export
commodities. Hence, both the statements
are correct and also Statement (IlI) is the
correct explanation of Statement ().

Therefore, A is the right answer.

Q107. The famous 'Giri' approach in Industrial
Relations in India espouses the cause of

(a) Adjudication

(b) Compulsory Collective Bargaining
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(c) Conciliation

(d) Arbitration

Answer: D

Explanation:

* According to Shri V.V. Giri, the late President
of India, collective bargaining’s and mutual
negotiations between management and
labour should be used to settle industrial
disputes. He suggested that there should be
bipartite machinery in every industry and
every unit of the industry to settle differences
from time-to-time with active encouragement
of Government.

* Outside interference should not encroach
upon industrial peace. Giri’s stress was on
voluntary efforts of the management and the
trade unions to wind up their differences,
through voluntary arbitration. He was against
compulsory adjudication which cuts the very
root of the trade union movement. He
advocated collective bargaining for securing
industrial peace.

* Thus, the Giri Approach to employer-
employee relations implies the
encouragement of mutual settlement of
disputes, collective bargaining and voluntary
arbitration. The essence of this approach is
internal settlement in preference to
compulsion from outside and voluntary
arbitration and collective bargaining rather
than compulsory arbitration.

* Hence, D is the right answer.

Q108. What are the disadvantages of Provident
Fund Scheme?
1. Money is inadequate for risks occurring early
in working life.
2. Inflation erodes the real value of savings.
3. It generates forced saving that can be used to
finance national development plans.
Select the correct answer using the codes given
below:
a) land2only
b) 1and3only
c) 2and3only
d) 1,2and3
Answer: A
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Explanation:

* One of the main disadvantages of Provident
Fund Scheme is that Money is inadequate for
risks occurring early in working life since the
corpus collected during early working period
is small. Hence, statement 1 is correct.

* Inflationis a big challenge for the schemes like
the Provident Fund etc., since it erodes the
real value of savings. Hence, statement 2 is
correct.

* Provident Fund Scheme does not generate
forced saving that can be used to finance
national development plans. Hence, C is
incorrect.

* Therefore, A is the right answer.

Q109. Consider the following programmes:

1. Credit Linked Capital Subsidy Scheme

2. Micro Finance Programme

3. National Manufacturing Competitiveness
Programme

4. Cluster Development Programme

What is common in the above programmes?

a) They are related to improving agriculture

b) They are programmes related to Micro, Small
and Medium Enterprises

c) They are programmes to improve large scale
industries

d) They are programmes to improve the
traditional cottage industries

Answer: B

Explanation:

* The above-mentioned programmes are
related to MSMEs. Hence, B is the right
answer.

Q110. The Maternity Benefit Act, 1961 (M.B. Act)

provides for how many weeks' wages during the

maternity period?

a) 11 weeks

b) 12 weeks

c) 13 weeks

d) 14 weeks

Answer: None of the above

Explanation:

*  Maximum period for which any woman be
entitled to maternity benefit shall be 26
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weeks of which not more than 8 weeks shall
precede the date of her expected delivery.

* Earlier the limit was 12 weeks which has been
extended to 26 weeks.

Q111. Which of the following are the instruments
of providing social security in India?

1. Income Tax

Employees' Provident Fund

General Sales Tax

LIC

National Pension Scheme

6. Postal Provident Fund

Select the correct answer using the codes given
below:

a) 1,2,3and4

b) 2,3,4and5

c) 2,4,5and 6

d) 3,4,5and6

Answer: C
Explanation:

* Income tax, Sales tax are not the instruments
of social security. These are taxes imposed on
the people. Rest all are the instruments of
social security. Hence, C is the right answer.

v wnN

Q112. Consider the following statements in
respect of Atal Pension Yojana:
1. Beneficiary must be in the age group of 18 to
40 years.
2. Beneficiary will receive the pension only after
he attains the age of 60 years.
3. After the death of a beneficiary, his spouse
continues to receive the pension.
4. No nominee of the beneficiary is permitted.
Which of the above statements are correct?
a) 3and4only
b) 1,3 and 4 only
c) 1,2and3only
d 1,2,3and4
Answer: C
Explanation:
* Under Atal Pension Yojana, beneficiary must
be in the age group of 18 to 40 years. Hence,
statement 1 is correct.
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* Beneficiary will receive the pension only after
he attains the age of 60 years. Hence,
statement 2 is correct.

* After the death of a beneficiary, his spouse
continues to receive the pension. Hence,
statement 3 is correct.

* Beneficiary can nominate a nominee for
getting the benefits after his death. Hence,
statement 4 is incorrect.

* Therefore, Cis the right answer.

Q113. Consider the following statements
regarding the Pradhan Mantri Suraksha Bima
Yojana:

1. ltis applicable for all bank account holders up
to the age of 60 years.

2. Itis alife insurance cover

3. ltis anaccident insurance cover.

4. The insurance covers death and permanent
disability due to accident.

Which of the above statements are correct?

a) land2only

b) 3 and 4 only

c) 2and3only

d) land4only

Answer: B
Explanation:

* The Scheme is available to people in the age
group 18 to 70 years with a bank account who
give their consent to join / enable auto-debit
on or before 31st May for the coverage period
1st June to 31st May on an annual renewal
basis. Hence, statement 1 is incorrect.

* The risk coverage under the scheme isRs.2
lakh for accidental death and full disability and
Rs. 1 lakh for partial disability. Therefore, it is
not a life insurance cover. Hence, statement 2
is incorrect and statement 3 is correct.

* The insurance covers death and permanent
disability due to accident. Hence, statement 4
is correct.

* Therefore, B is the right answer.

Q114. Social Security may provide cash benefits
to persons faced with

1. Sickness and disability

2. Unemployment
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3. Crop failure

4. Loss of the marital partner

Select the correct answer using the codes given

below:

a) 1,2and3only

b) 1,2and 4 only

c¢) 3and4only

d) 1,2,3and4

Answer: D

Explanation:

* Social security may provide to persons faced
with sickness and disability, unemployment,
crop failure, loss of the marital partner etc.
Hence D is the right answer.

Q115. Employees State Insurance Act, 1948

covers factors like

* Factories and establishments with 10 or more
employees.

* Provision of comprehensive medical care to
employees and their families.

* Provision of cash benefits during sickness and
maternity.

* Monthly payments in case of death or
disablement.

Which of the above statements are correct?

a) 1,2and3only

b) 1,2and 4 only

c¢) 3and4only

d) 1,2,3and4

Answer: D

Explanation:

* Employees State Insurance Act, 1948 covers
factors like factories and establishments with
10 or more employees, provision of
comprehensive medical care to employees
and their families, provision of cash benefits
during sickness and maternity, monthly
payments in case of death or disablement etc.
Therefore, D is the right answer.

Ql16. Consider the following statements

regarding the Pradhan Mantri Jeevan Jyoti Bima

Yojana:

1. It is applicable to all adults above the age
group of 18 years.
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2. The premium is deducted from the account
holder's bank account through 'auto debit
facility'.

3. The life insurance worth is decided by the
account holder and he has to pay the annual
premium accordingly.

4. The life insurance amount is given to the
family after the death of the subscriber.

Which of the above statements are correct?

a) 1and3only

b) 1and4only

c) 2and4only

d) 2and3only

Answer: C

Explanation:

* The PMIIBY is available to people in the age
group of 18 to 50 years having a bank account
who give their consent to join / enable auto-
debit. Aadhar would be the primary KYC for
the bank account. Hence, statement 1 is
incorrect and statement 2 is correct.

* The life cover of Rs. 2 lakhs shall be for the
one-year period stretching from 1st June to
31st May and will be renewable. Risk coverage
under this scheme is for Rs. 2 Lakh in case of
death of the insured, due to any reason.
Therefore, it is pre-decided and not fixed by
the account holder. Hence, statement 3 is
incorrect.

* The life insurance amount is given to the
family  after the death of the
subscriber. Hence, statement 4 is correct.

Hence, C is the right answer.

Q117. SPAM in a system (e-mail) is:

(a) A message distributed indiscriminately

(b) A search engine

(c) An activity of the user

(d) A command initiated by the sender

Answer: A

Explanation

* Spam is any form of unrequested
communication sent in bulk (Unsolicited Bulk
Email, or UBE).

* Its most frequent form is a commercial email
sent to many addresses (Unsolicited
Commercial Email, or UCE), but “spamming”
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is also possible via instant messages, texts
(SMS), social media or even voicemail.

* Spam can be used to spread computer viruses,
trojan horses or other malicious software.
The objective may be identity theft, or worse
(e.g., advance fee fraud). Some spam attempts
to capitalize on human greed, while some
attempts to take advantage of the victims'
inexperience with computer technology to
trick them.

Q118. What is Apartheid?

(e) Aninternational organization of peace

(f) A medical term

(g) Atrade charter

(h) A policy of racial segregation

Answer: D

Explanation

Apartheid is the policy that governed relations
between South Africa’s white minority and non-
white majority for much of the latter half of the
20th century, sanctioning racial segregation and
political and economic discrimination against non-
whites.

Q119. Consider the following statements about

All India Radio:

1. It is governed by the Prasar Bharati Board.

2. It was so named in 1936.

3. It does not provide DTH services.

4.FM Rainbow and FM Gold are its subsidiary

channels.

Which of the above statements are correct?

(a) 1, 2and 3 only

(b) 3and 4 only

(c) 1,2and 4 only

(d) 1,2,3and 4

Answer: C

Explanation

* In April 1930, the Indian Broadcasting Service,
under the Department of Industries and
Labour, commenced its operations on an
experimental basis. Lionel Fielden was
appointed the first Controller of Broadcasting
in August 1935.

* In the following month Akashvani Mysore, a
private radio station was set up. On June 8,
1936, the Indian State Broadcasting Service
became All India Radio. It is governed by the
Prasar Bharati Board.
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* In 2004, the DTH service of Doordarshan and
AIR was started.

* AIR operates at present 18 FM stereo
channels, called AIR FM Rainbow, targeting
the urban audience in a refreshing style of
presentation. Four more FM channels called,

AIR FM Gold, broadcast composite news and
entertainment programmes from Delhi,
Kolkata, Chennai and Mumbai.

* Hence statements 1, 2 and 4 are correct.
Hence C is the correct answer.

Q120. Which of the following are the functions of

Foreign Investment Promotion Board (FIPB)?

1. To ensure expeditious clearance of the

proposals for foreign investment.

2. To review periodically the implementation of

the proposals cleared by the Board

3. To undertake all other activities for promoting

and facilitating FDI as considered necessary from

time to time

4. To interact with the FIPC being constituted

separately by the Ministry of Industry

Which of the above statements are correct?

(e) 1,2and 3 only

(f) 1,2and 4 only

(g) 1,2,3and 4

(h) 3 and 4 only

Answer: C

Explanation

The Foreign Investment Promotion Board (FIPB),

housed in the Department of Economic Affairs,

Ministry of Finance, is an inter-ministerial body,

responsible for processing of FDI proposals and

making recommendations for Government
approval.

* The extant FDI Policy, Press Notes and other
related notified guidelines formulated by
Department for Promotion of Industry and
Internal Trade (DPIIT) in the Ministry of
Commerce and Industry are the bases of the
FIPB decisions.

* In the process of making recommendations,
the FIPB provides significant inputs for FDI
policy-making.
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The following are the functions of FIPB:

* Quickly approve FDI proposals. Hence
statement 1 is correct.

* Review FDI policies and help set up
transparent guidelines that encourage FDI into
different sectors. Hence statement 3 is
correct.

* To examine the implementation of the various
proposals that it had approved. Hence
statement 2 is correct.

* To encourage FDI into the country by
establishing contracts with international
companies and inviting them to make
investments in India.

* To communicate with the government and
industry to augment the inflow of FDI into the
country.

* Toidentify other sectors that need FDI.

* To interact with the FIPC being constituted
separately by the Ministry of Industry. Hence
statement 4 is correct.

Subsequent to abolition of the Foreign Investment
Promotion Board (FIPB) by the Government in
2017, the work of granting government approval
for foreign investment under the extant FDI Policy
and FEMA Regulations, has been entrusted to the
concerned Administrative Ministries /
Departments.
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